i} _u__
I+ 0
o M
0 i
il uH

(arm)

a

NE MHH

EH 23330.

ﬂ_= ) _|.“.m_=
oo 7 oS <
&l o2 ol Ho
RGN
Al g ™ S HO

_=|.r
ml |n.v|__o_=|=_.._

I:%mm

ml ol

o od ¢y I
Kl ) i
Wl o o 7 K
<L g, OF
= 0 2 _=___._

car =< =

ﬁ%%mw
aﬁa___mM_A

RE <] g Al

QOI_._.H m | H| <k

j Al oF) - 7l

i

4ot ga <k
O T MO <k W N

—

=

x| H47h R 90| Kl&xel Aol 7}

st=
P |

ct.

A MEZE 2arm)el ¢
8t

= HE
|x|ofl 8 z|o{of

AJFREHE

b

, otd =5 %], FSEfE

Yz
AEl

m .

HOo|X|1~2| 2
JHAl: 3.2.2024

S

lg

m
4

23330.0207
d,

23330.0205

L7

P W 0 Y
ls

ls

m
o

7

o« AEQIF

E|u|

ls

NHALDER




2L 2E
EZ ¥z
zE e
Qur [ FE P XX | « [ ME Hs.
¢ | A3R il
dy | by by by hy| hy |hy|hy| hy | I I I L[5l 1 | Ig Iy F,  F, ESENE
| | Z|cH H
2
[mm] [mm] [kN] [°C] |[a]
ES=
4 |M8x 45 75| 46| 6 — [186/33,5/18 0[12,0/108,5|116,5 81,0(19,5 43|35  7,5(20,0 - 1,4125[105° -10 | 80 | 42623330.0204
5 |M8x 65 86 64| 8| - 221/42,5/20|-8 21,0 141,5/129,5/101,0(17,0 61|53 13,0(32,0 - 2,0 3,0(105° -10 | 80| 68623330.0205
6 |M12x 80| 85 70|10 45|281|55,5(25|-6|255196,5|184,0 141,0/30,5(88 |65 9,5|45,0 ) 26,5-31,5|3,0|5,0(105°|-10 | 80 150323330.0206
7  |M12x110[13,0/100| 10| - |331|81,0(30|-5 51,0 232,0|206,0166,5(20,5 90|90 24,5|50,5 - 3,5(5,5|105°|-10 | 80 200023330.0207
THES
RoHS &%

X|& 2011/65/EU & X|E 2015/863 &4

SVHCAHZEE O|=&
0.1% wiw 0|4 &R E SVHC 2 & 9i3 - 2024'4 1¥ 232 SVHC 5.

Asord ol SMEE BelY SUSS ZHH 2
Mrotd W SN2 el 2SO0l ZEE] 2Kl oS

https://www.P65Warnings.ca.gov/

B UE TRl s
O| ME2 EEE FM 2 == HAH S 0IF Z3= L= QI 270 "2 HE'Z X|HE SRS Z&36HX| etaLict
WHALDER moixl 2 ~e12

THAl: 3.2.2024


http://halder.com/kr/23330.0204
http://halder.com/kr/23330.0205
http://halder.com/kr/23330.0206
http://halder.com/kr/23330.0207

